Name ______________________
Class Work
Advanced Algebra
Solve: Each word problem

1) An object thrown straight up has a height given by: s = -16t2 + vot + so. Where s = the height at time t seconds, vo is the velocity, and so is the initial height of the object. Suppose an object is thrown upwards from the top of a tower 40 feet high with an initial velocity of 70 ft/sec.    Find the time the object will hit the ground to the nearest tenth.
2) An object thrown straight up has a height given by: s = -16t2 + vot + so. Where s = the height at time t seconds, vo is the velocity, and so is the initial height of the object. Suppose an object is thrown upwards from the top of a tower 220 feet high with an initial velocity of 100 ft/sec.  Find the time the object will hit the ground to the nearest tenth..
3) The length of Jen’s bedroom is 5.5 feet smaller than the width.  If the room has a total area of 142.5 square feet, find the dimensions of her room.
4) Your house is on a large corner lot.  Several of the children in the neighborhood cut across your lawn.  The distance across the lawn is 132 feet.  How many feet does a person save by walking across the lawn instead of walking on the sidewalk?
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5) The demand equation for a certain product is p = 15 -.003x, where p is the price per unit and x is the number of units sold.  The total revenue for selling x units is given by: Revenue = xp. How many units must be sold to produce revenue of $14,000? Round both answers to the nearest whole number.
6) An open box with a square base has a surface area of 84 square inches.  If the height of the box is 2 inches, what should the x value be of the base of the box?

